Таблица 13.12 - Безразмерные коэффициенты 
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8,0834
2,5951
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1,5013
1/2419
1,0487
0,8917
0,7590
0,6453
0,5475
0,4634
0,3915

1,1
5,1769
4,8590
4,1223
2,7469
1,6774
1,3103
1,0909
0,9262
0,7914
0,6772
0,5791
0,4945
0,4216

1,3
2,5773
2,5603
2,5109
2,3365
1,8759
1,4884
1,2156
1,0195
0,8692
0,7477
0,6458
0,5588
0,4837

1,5
1,8817
1,8773
1,8644
1,8151
1,6475
1,4419
1,2445
1,0729
0,9286
0,8073
0,7043
0,6158
0,5392
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1,5240
1,5222
1,5168
1,4955
1,4173
1,3066
1,1821
1,0578
0,9411
0,8353
0,7408
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1,1338
1,3232
1.1314
1,1244
1,0974
1,0552
1,0015
0,9402
0,8749
0,8085
0,7432
0,6803
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0,9577
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1,01
9,05060
8,6979
5,3509
1,8597
1,4285
1,1884
1,0093
0,8628
0,7382
0,7606
0,5374
0,4568
0,3874

1,1
5,2092
4,9650
4,3346
2,8941
1,6489
1,2677
1,0547
0,8978
0,7699
0,6613
0,5676
0,4865
0,4162

1,3
2,6499
2,6319
2,5797
2,3940
1,8995
1,4853
1,2003
1,0011
0,8519
0,7328
0,6337
0,5492
0,4764

1,5
1,9195
1,9139
1,9002
1,8475
1,6690
1,4511
1,2440
1,0665
0,9194
0,7974
0,6949
0,6075
0,5321

1,7
1,5458
1,5439
1,5382
1,5157
1,4331
1,3167
1,1867
1,0578
0,9381
0.8340
0,7452
0,6652
0,5936

1,9
1,3102
1,3092
1,3061
1,2942
1,2487
1,1803
1,0973
1,0077
0,9174
0,8305
0,7492
0,6742
0,6060

2,1
1,1439
1,1432
1,1414
1,1342
1,1061
1,0623
0,0068
0,9437
0,8767
0,8099
0,7424
0,6788
0,6188

2,3
1,0185
1,0181
1,0168
1,0121
0,9933
0,9635
0,9246
0,8689
0,8287
0,7760
0,7226
0,6699
0,6187

2,5
0,9198
0,9195
0,9187
0,9153
0,9020
0,8806
0,8522
0,8182
0,7800
0,7388
0,6990
0,6526
0,6096
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1,3261
1,1113
0,9523
0,8210
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0,4474
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1,1
4,7391
4,5442
4,3622
3,3313
1,6805
1,2170
1,0047
0,8575
0,7391
0,6384
0,6512
0,4750
0,4084

1,3
2,7056
2,6886
1,6389
2,4581
1,9457
1,4943
1,1859
1,0785
0,8287
0,7123
0,6167
0,5358
0,4661

1,5
1,9600
1,9551
1,9408
1,8859
1,6979
1,4666
1,2466
1,0602
0,9083
0,7846
0,5823
0,5960
0,5223
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1,5708
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1,5410
1,4537
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1,0591
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0,7277
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9,5695
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1,3286
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1,3639
1,1921
1,1052
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1,1546
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